EX Ry =N\
5 M &® % 2
AR TE2MERL TWEFERLH 5,
. SRR O E R LOEZZEBIZOWTUIAHD 208 E L 2w,

ZIRM B E Y W R LB R
. BEHES I RBIRT [E=
CHERL &

[ B T AR

BHA RBREHE
— MR

(SRBR) (SRR

BT TE=0 (%) &) OHEL THEAHS

KO THIN LD EHR L 720
ﬁh&(%i“)%l@ﬂm%T%E%%

79

T’{TO 71; %) @o
TITbhdro72b D,

BERB HERESDAZE— KRN

| wtt |

(=) (1+) 30mg/dl Lt (=) (1+) Dk
I
| 2wy F v |
X | Mk T
(=) (1+) 10mg/dl B I
| E
| =K BR |
S |
[ | = -~
(BB R 5 0 & |
|
[ | — | A~E BEN%E | |wmpe SEER
0 1 . . = RELL
BH PCK EH P (£)UTF Q+)BE [
(=) @HR) (£)BE d+)BE <| 6% AA 1@@%,313@;7?4
(=)  (normal) |
1+) BT (£)BLF
LT ) ‘ | Wo% % B & |
| R L il |
| A~E #HpgE R
1500rpm 557k ;
x400.100 HIEFEEH | 67 HIH A lm}ﬁ,ﬁﬁ’rﬁﬁq
FETHRPRERIL . TP ihait=s
AT B MBAEOH TR A
BEHC IIRWERFIEELE
1) EX2 LEEE
(1) HEHERFBH (2+) DEF/Z3P/Callaik (2 +) SRV R E
(2) Eaﬁﬁ%<1+>quﬂcm%ﬁ< +) okl ARIMER 201A/HPF AL
B R P15k W0fA/HPFBLE | 0
(3) ‘}Z:iéim}#?é 7T AR 1018/ WEF DL - P
(4) i (2+) Pk SR A 5 i/ WELL I
| ARMEKFIAE 1 fE/WFLLL
2) BER B R
(1) EHEABMK (1+) UTTP/CREME (1 +) 2200k ARIMER 10-19ff/HPF
R L I Ek 5-91El/HPF | W3
(2) P/CHERAK (AHUR) 7T AP 5-9M/WF [H»253b0
AL AR 3-4 fEH/WF
3) BERL B RE R L
(1) P/Cil#fk (normal) 2 (+) ARIMER 0-9 fEl/HPF
(2) I (1 +) THEIREZL. H25WVITEERE H ER 0 -4 f&l/HPF
(3) i (=) 2 () 7oA 0-4EH/WF
SR A 0-2MH/WF

TN B R 10

A2 FFEEFSEAER (BT - AR ae)




80 (B & ] 2)
®1 FEEHZBREROZIRARI
X 5 %= mo#® v = MoF RV
7 01848 | 2019%0E | 2020FE | 201848 | 2019%E | 2020FE
w8 700 877 724 232 686 735 2 027 2135 2 029
XA B R E 68 333 67 866 64 949 759 791 766
/N E3 e 426 685 442 415 419 412 807 855 806
Hh E3 1% 185 052 192 179 182 993 391 415 387
T S 3 16 990 17 837 15 540 33 35 32
BB O$E ¥ 3 412 3500 3 408 36 38 37
qoB ¥ K 405 435 433 1 1 1
1) FA—Cae 2 I L TV B 54k, EMTA L7,
K2 FREPFIZREROZIRFRH
= D R < Y
X e % Bm & S s
e HELR L T R L
w8 653 484 33 251 1974 55
X HE R 64 949 - 766 -
4N Ca ’® 396 376 23 036 ! 35
i c2 ’® 172 899 10 094 368 19
[EI S 4 15 540 - 32 -
EE I 3 287 121 36 1
OB E R 433 - 1 -
1) F—%#ECa 2 MEML TV B 541, IEMTH L7,
CBRD BT R R ERE KMEINORZ AT A
1y amEs K ] —kiSH e B
(1) ZEERBAK& (2+) Mk & g N 1) o
¥ f:liP/CEit%ﬁffR < 2+ ) i;gg Eptileahid 7Y BN DESS M IET B 1 4%
(2) im (3 +) Bk Fa 5
(3) L DR IMER DF e | SRR | BERNEOEEE | HRIRTHESGS
301/ HPFLL I 25d 2 b0 I i B
(4) VL oo JEA AL a 1) Jo 1 g e
5 B/ WEDL - T B HEE AR
(5) L DI T AP 2)  ARED
10fE/WELL - N | AR | TPEO ARED | RN
2) A'taEs Cigtn
o h ALY . . )
(1) EERABHE (1+) UFT R HBURT | s e b
P/CERERE (1 +) ;){;)Z;z,j) Wi T Eod=| T%KHE@%EEZ‘% i e R B
(2) P/CAHERM (FHUK) & W
3) CwE® B :
EHREM (1 +) LUFC, b o e mEk il - . r} e Jese R
101l /HPFEL Lo b E ;7}7 LHT HEHEOEED .
4) REEL i )1 A
LA A M 7 =N A 2N ) = EE 2
ABEZ, A B, CREZISHA L 2D | Ty [ & i < | ERANEOEZS A

1) e C I 2) T oH) 288 13 ER D 2

MNP A S A 2 SFEH SRR (BT - AR e)




(B i w» %2 81
r3 —IR. ZRRO=RIEEBIRIZGE
— IR T RKRIR = K b £ i 7
% P = =5 }l [\l | 2R woE % Mo R
. N =% Z | A B2 | F | W) |22 | #2) | E2) | {2 | #2)
X /1 <, K ):l 3. D Z o
7 wo| o om | kE | & ol w | e |
S & D =z 7= BLC]
i C g |5 |82 | %
~ Bl g | | B
& E & mE | H |2 W& |[vw B R O|B % | F L
o my || M 08673515433 14 524 ss2| 773] 109] 25| 61| 15| 83| 5| 330 54| 200
"o 221 941
v o gy | oy B 653 484 14.608| 13 742] 1300| ss2| 73] 109 25| 61) 15| 8] 5| 30| 54 200
S 2.2 941 0.2]67.8/87.6/12.4/0.01/0.02|0.00| 0.02| 0.00| 0.09|0.01| 0.05
¥ ose & L |#F|%| 33251 82| 782 L e
D% e 2 % ramrn aEwe s
K4 ZRBEEHZEROOEBERR. WMRSRER. ERAHREOAER
B i hs) WhBR % R A TR 5
Bl A M R E R | R B | F R | R R | FW I | & | I
K| m| P =
X 4 M| |7 vl | B (o o
A | & n D | F & FlOE H | = | §
w | H 5 B w | | # M &
I W E | g ES S H
KR | K |EE & | B R | A E | A | | 0& JR | IR | R
woom =T el 1] = 4] = 4 25 12| 1| 2| -] 15| 20| 77| 3| 330
)] e _ B _ B _ B _ B _ B _ B _ B _ B _ B
£ G
N x| - =] 1 = = 4 -1 3] 18] 6 1| 2| -] 9| 152 43/ 1) 1%
hoz= k| -] -| 3] 1] -] -] -] 1 5| - -] -1 5] 3] 33| 2| 128
% o7 ow| - - o= A - 1 - =] =] 1] 5| 1| -| s
wuxweEn] | | | | | -] - - - - -1 - [ - -] -[--
w o2 & | | | | | | | | A A A -
i oa W ol -] - 18] 1] -1 4] -] 4] 2] 12] 1] 2] -] 15 20| 77| 3] 330
Wowe & Ul -] -] - = =] =] =] =1 =1 =] = =] =1 = =] =] -] -
MENNETFPFEEES M 2 FIEFEEER (BET - SR E)




82

(B i m % 2)

iR - REE

x5 HHERE - REED—IR. ZRRUC=ZREERZ IR

— IR ZWRBR = Y/ - Y S
% 7 % | D | || 2Bk woE B OW O #
" =% Z | A B2 B w2 |82 22| %) | | 22
S Bl KT s £ R B s %
WY B2 % |8 |0 B < |,
) ol B |k (B
& = H o\ R HE R W B |w |[BOIR OB g G L
8 mo # 64049 363 313 | -| -| -| - - -] -1 =] -] -] -
% 06l 8.2 01 - - | | | | -] - - -| -
N i;ﬁz 64049 363 313 7| -| -| -1 - = -] -1 -] =] -] -
% 06l 862/ 01 - - | | | | -] - - -| -
D % e 0 2 % e e < 10
3) F—240 G4 2 %M LT\ A YAt TEACRE L L 7o
%*6 HH#E - FREROA (HEHM) - FALF—R. ZIRROZIRIEERZRAE
% — IR ZIRIIR = Y/ - Y S
N % s % fgj || =R woE oW R R
X 4 " = X A B F;"E’i %{ % 0%) fi W R
1 % 5|l b e lm| T 5
k%5 | % | 5 |BE| 5|3 W 8 v B R | BB B L
# R | 36| 5563 40| 37 ol - —| = = =] =] -| - )
#e & 5 223 1 1 L L
4 6 216 1 1 I
FoE Ol 2 57 - - - - - - - - - _ _ _ _
%W ol 41| 2072 6 6 o= = = =] = = = =] -] - -
MEMT| 10| 534 5 5 o= = = =] = = = =] -] - -
W | mmas| s4| 2725 14 13 2| -| -| -| -| - - -| - -] -] -
L Rmowm] 3 248 2 2 o= = = =] o < 2| =] -] o -
L I | 87| - - e R e R e e I A e S B B
g RO 4 238 2 ) ER A A S [ U A IR (N I B
wom o 20 112 2 2l - | = -] -] - - - -] -| - -
gz |1 e W7 4 164 - - - - - - - - - - _ _ _ _
Bl # HT 1 79 - - e e e
O OHT 4 95 - - S e e e
A OMOHT 4 183 2 1 S e e e e
Caupseli 2 62 - - - - - - - - - _ _ _ _ _
B 7| 587| 52291 288| 243| 64| -| -| - | -] -] - -] -| -] -
&t 766 64949 363 313 78| -| -| -| - - -] -1 -] -] -] -

EUESI S gl R

T2 AR EHSEAEH (BT - AR )




(B i = % 2 83
INEERR
KT PMERO—R. ZRRO=ZRIEFIREZ RAE
—RIGIR TIRIGUR = /s U] w T 7
= 2 = o\ m) | | | ZBR woE F W K R
= %R | B2 | B w2 | &2 | 22 | E) | w2 | K2
S oo | om | wE| s T NS
i a |2 5 2 g B %
By |\ e | Bl
& & x o\ mE|E | % | H & |[vw & R OB |8 i L
@ g g %] 419412 5276] 4 936 448] 399 49| 18] 32| 9| 35| 1| 196] 29| 79
W & W oe| g ©4| 396376 4955) 4630| 604| 448] 309| 49| 18 32[ 9] 35/ 1] 19| 20| 79
; % -] 1.3/ 93.4] 0.2/74.2/89.1/10.9/0.01|0.01|0.00| 0.01/0.00| 0.08| 0.01| 0.03
o€ & U |EH ) 23036 321 306 - - - - - - - - - - -
D% pamatx—wamr 0 P ok k< SgapE O
x8 /NEROE - A~ (HHEH) - FILFI—IR. ZRKRO=ZIRIEZIRZRE
= — PHRIR KR = R Ui} = ]
= [ = | E~ | E | BRI ooE 2 oW & E
i 2 z| A | B | % || & |2 |%|%]|®
R R AN AR A AR NP
B ”Eu’é &= D EA & ) 15 »
fii— % kB | x| BT F
% = = H o\ mE|E | % | BH & | w | B R BR8] G L
W& T 17| 341176 543| 2 185| 1 995| 224| 224| 194 30| 8| 17| 5| 20| -] 105] 21| 18
oW | 114| 73496| 822 797! 112| 112] 110 2| 9| 11| 1, 6| 1| 49 25
% A | 16 7713 85| 82 50 - - - -] -| -] -] | | -| -
$ oW 19 12892 127 18| 14| 14| 12| 2| 1] - 1 - 6] -| 4
= @ | 8| 1474 25| 4 3l - - = -] = =] =] = = - -
BRG] 71| 3452 507 489 8| -| | —-| - - | -| -| -] -] -
KA1 OTE| 19| 11834 167, 156| 30| 30| 26| 4| - 1 1 -] - 7 - 1
wmEL| 13| 7115 98| 90| 14| 14| 12| 2| -| -| -| 4| -] 6| -| 2
g o] 11 6205 73| 70| 17| 17| 9 8 -| -| -| 3 - 3 -| 3
W W | 10| 4701 66, 62 77 7 - - 1 1 -] -] 3 -| 2
o | 28| 12214 145, 133 18] 18| 18] -| - 1 -] -] -| 121 -| 5
% % | 13 78%4| 8| 83 9 9/ 8 1| - 1 -] 1 - 4 - 2
W || 10 4786 71| 70| 100 —| | —| —| | -| | -| - -] -
M| 6| 2015 31| 28 3l = = | | -=| -| = =] -] -| -
= |/NHET| 25 8768 87| 78 3 3 3 - -| -] - 1| - 1l - 1
JE Kk | 23| 11121 209 199 27 - - - - - - - - - - -
Wk B Er| 2| 1501 23] 23 4l - | - - = =] =] =] = - -
— % Er| 3| 1182 13 9| | -=| = = =1 = = = = - -] -
e | T2 391 5 4l - = = = =] =] =] =] = = - -
K oH ET| 3 849 9 9| | | | =] | | -] = | -] -| -
momom 2 424 7 6 1 -] =] = = = -1 - -1 -] -] -
mode BT 2 387 8 6 2l | - - - -| -| -| -] -] -] -
B W] 2| 1129] 16| 16 1 - =1 = = = =] = = =] = -
o R 1 188 2 2l | = = =] = - -] = - -] -] -
% )1 HT 6 17% 24 21 20 - - - - - - - - - - -
mOIR| 2 120 - - e
B OMOET| 3 281 2 2l - - - -=| -] =] =] =] | - -| -
BTN 3 835 4 1 - = = = = - - =] - - -] -
s|o2| 1260 14, 13 ol - = = =] =| =] =] =| = -| -
A | 11| 2798 45| 44| 11| -| - | =] = | - = - -] -
B 7711396 376] 4 955| 4 630| 604| 448| 399| 49| 18] 32| 9| 35| 1| 196] 29| 79
jzgf MR W 35| 23036 321 306 - = = = = =] = = =] =] -
WENEFHES S AW 2 FEEEREHR (BT - SRR )




84 (B & & % 2)
FREAFR
X9 FERO—R. ZRNOZIRIEEBIREERGE
— IR TRIIR = /e bl w £ &
= e % D | m R A S
=@ z | & |8 | w2 we w22 |2 w2 | ®2
S wo| | | wE| s 5 | X Z % |a ENL
n’/ A = s
L Bk |6 e m | &%
EA EA B o\ mE| B | % B & |vw | B R R |8 L
@ m || % 182993] 8975 8518 203 350 53| 5| 28| 5| 44| 4| 128| 24| 112
W 2w | ap B 172899 8476|8046 573| 03| 30| 53 5 28| 5| 44| 4 128 24| 112
% | 49| 94.9 0.3]70.386.8/13.2/0.00/0.03 0.00]0.04| 0.00| 0.13] 0.02| 0.11
HoE & LI|EH %] 10094 499| 472 - - - - - - - - - - -
D % e 10 2 % e X 100
F10 F2ROE - 2 (FEH) - FLH—R. ZRRO=KX] %:*ﬁ 0%
= — AR IR “IRIR = w il % 9 A
= 2 = ~ 1| [ 'Tfi‘%?)?{ﬂﬂ noE oW oK R
# =2 z|x (B[ w[wle[z]2]nn
yas D [
S R I S I I S I PR AN i R
e - | R &2 | %
i By | e | B ’
% = = Z oI mE | B |2 W | 8 | w | B R | OR | 8| L
W it 15| 146 73480| 3718| 3519| 164| 164 136| 28] 1| 9| 3| 24| —| 60| 17| 22
Nows | 53| 28578| 1127|1051 102| 102] 95| 7| 2| o —| 8| 3 2| 6| 4
% & | o9 3315 18| 153 8| -| -| - -| -| -| | -| -| -| -
=05 13| 5984 270 25| 15| 15| 9 6| -| 1| -| -| -| 4| - 4
= @ W 3| s43| 45| 44| 4| | —| | | - —| -] | -| -| -
MR ER | 36 16365 958 9200 97| | —| - -| -| —| - -| -| - -
J #1 W 9| 5203 306 201 30| 30| 20 1 1 -] - 13 1| 13
weam| 6| 327 18| 178 10| 10| 8 2| -| -| -| 3 -| 1| - 4
g o Wi 6| 2954 121] 13| 21| 21| 16 5/ —| | - 3/ 1| 4/ - 8
@ ¥ | 5| 2216 85| 79| 9] 9 o ~—| —| 2 -| 1| -| 4/ - 2
¥ % | 15| 6067| 255| 240| 30| 30| 30| -| -| 5/ -| 3 4| -| 3
% % | 9| 3955 171 158 12| 12| 8| 4| -| 1| -| -| -| 2| - s
W mreg | 4| 2316] 15| 108 4] -| | | - —| —| | -| -| -] -
A 3| 1041 48] 45| | | | | | | - -| -] -| - -
2 UNWES| 11| 4212) 165 159] 10| 10| 10| - - 20 - - - 5
B A& | 13 553 347 334 20| -| -| -| -| -| -| -| -| -| -] -
Wk owe e 2| 70| 32| 3| 3] - - -| -| - | - | -] -] -
— & mr| 2| 599 30| 28| 2| | | -| - | - -| -] -] - -
e PR 1 20 8l 8] 1] - - = - =] -] -] - - - -
J 3k mr| 1 48| 24| 23] 4| —| | - | | —| | -| | - -
wom el 1 204 7| 7 - -| -| - -| -] =] - -| -| -| -
Lo omr| 1 186l 9| 8| 1 - - - - - | - - -| -] -
B Om BT 1| 488 15| 15, 1| -| | -| | | =| -] | - -| -
Eoe orr| 1 w3l 4| 4] - —| | | - = | - | -] - -
g g ’r| 3] eso| 54| s0| 10| -| -| -| -| -] -| - -| -] -| -
O 2 Bl el 5 -| -| | - -| =] -| - -| -] -| -
% oaomr| 1 1ss| 1| 11| | - | - | =] | - —| -] - -
sarmEnr | 10 4s1| 19| 17| 1| - | - | | | - | -] - -
v o2l sl 42 a1 2| - - - - | - | - - -| -
B | 8| 2044| w6 141] 12| -| - | - - | | -| -| - -
E 368|172 899 | 8 476 | 8 046| 573 403| 350| 53| 5| 28 44| 4] 128 24 112
EJ’“E MO W 19 10094| 499|472 e
MENNEFFEZS S 2 FEEFEFEHR (BB - SR E)




(B [ 7= & 2) 85
EEFR
R SFFEROA () - FAILH—R. ZRRO=ZREBIRZHRE
% | OB | kiR = % W ® BB
=z s % | =D | IR wOE % OW M R
. i B | R | B | B zﬁzz) H2) | 72) | B2) | JE2) | B2
X 4 % K |3 |0 | ”
S R R P T B
T w 2| |2 g | R %
A N R
i & & H o mEE 2 W R v | B R OB E L
wag| o | K| %[ 1550] es7| e[ 37 26 22 4/ 2f 1l 1 3 - ¢ 1] 8
L e | | 4.4] 93.4) 0.3]70.3] 84.6] 15.4] 0.02) 0.01] 0.01] 0.03] —|0.07| 0.01] 0.09
g B E W] 1372380 336 3190 10[ 10 7 3 - 1 - 1 =1 30 1] 1
| W ) 10) 4234 159 143] 16 16 15 1] 2 - 1 2 - 3 ~| 7
A | 9] 4088 192| 180, 11| -| -| -| - - - -] - -] -] -
V% et kom0 2% pamanx kot Snane 0
R IRER
F12 FRIXZBEEROE - 2 (M) - FILBll—R. ZRROZRIEBIRZ AR
=z — UK AR = Xk KB ® & ¥
% 7 % | ZD | ZIR uoE & oW oM R
N i3 =% Z | R | B2 | B ~)z,_g\z> i 2) gz) 550 | 52) | #2)
X % ] YA 23 -
Tl om o R xE| s PEREE
e e S S N B el I N PN
A B om g |, | Bl
L Ea Ea H o\ mBE | HE 2 W B v B R OE 8 F L
| o | B 37| 3408 112 95 5 2 3) - -] - 1l - - - 1
4\\ =
wH A % . . 3.3 8.8 ..
W owe | 13| 1243] 52| 42| 4] 4] 1] 3] - -] -] 1] -] -] -] -
i Il W 10] 603] 16| 16 11 1 -| -| -] -] -| -| -| -] 1
LS I o -| -| -| -| -| -| -| -| -| -| -| -| -| -
; w20 u3) s8] 8l - - - -| -| -| -| -] -] -] -| -
W w| 10 132l 31 2| 2] -] -] -] -] -] - -] - -] - -
LT s sz 107) o 71 s 2l 3 - - - 1] -] -] -] 1
ol | | 3.3 85.0] 0.3]7.4/40.0/600 -| -] -]o13 -| -| -|o0.13
ﬁ’f B OR W 1] 121 5| 4 T D ey
TR T T T = it o St T = T
BIEER
FR13 HEFRO—R., ZRROSRIEZEZHRE
=z — UK ZRBR = W % M %
= s % | FED | | | ZZRE 1
% #g 2 | R | B2 | B W2 | #2) | £2) | E2) | fFD) | R2)
< AN P JR | 3% D a3 -
S m | M o B &S X % = 0’; =W | T?Bj %o |
ED/ ez, ’:‘% éﬁ: » o Z_\‘ tc
A~ B m g |, | B
i Ea Ea H o mE | E % | W B v B R OB |8 F L
E 1] 433 20 =20 1 - - = = = = = = = = -
4\\ =
E : - 4610000 02 -| -| -] - - - -| - -] - -
BSle w1 s3] 2| 2 1] -] - - - -] -] - - - -| -
5z -
D% et gane 0 2 gamat g Swas 0
MNP RES S DR 2 FEFEERR (BT - AR E)





